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Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
4,637 x 100 = 1,183 x 1000 =
3,404 x 100 = 9,698 x 10 =
9,82 x 100 = 8,679 x 100 =
8, 826 x 1000 = 7,608 x 10 =
4,144 x 1000 = 5,276 x 1000 =
10, 512 x 1000 = 5,635 % 10 =
6,184 x 10 = 10,751 x 100 =
9,75 x 100 = 5,007 x 10 =
9,832 x 1000 = 6,307 x 1000 =
8, 112 x 10 = 8,359 x 10 =
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Name: Datum: Ergebnis:
4,637 x 100 = 463.7 1,183 x 1000 = 1183
3,404 x 100 = 340.4 9,698 x 10 = 96.98
9,82 x 100 = 982 8,679 x 100 = 867.9
8, 826 x 1000 = 8826 7,608 x 10 = 76.08
4,144 x 1000 = 4144 5,276 x 1000 = 5276
10,512 x 1000 = 10512 5,635 x 10 = 56.35
6,184 x 10 =61.84 10, 751 x 100 = 1075.1
9,75 %100 =975 5,007 x 10 = 50.07
9, 832 x 1000 = 9832 6,307 x 1000 = 6307
8,112 x10=281.12 8,359 x 10 = 83.59
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